1ADITEFE
B | & L3 F T E 15 | 25 | 3% | 45 | 55 | 65
128268 ~ 1A58 ZZF{K%kH
9 | k| WEES | A4BFE RBAERL x| 4|4 |4 |44 4
10 | /K A4 RAeIEE 6 ERFUE HKREM 4 | 4|44 4|4
11| K| hEES | 5ERENE 5|6|6|6 |6 |6
12 | & BIFfE 4FHBENE 1HFRELXeH=E | 5| 5| 5|6 |6 |6
13 | ==
14 | H
15 | A | REHS | BRFFE 6 R EGEER) KNFEHT A b 55| 6| 6|6 |6
16 | 'k SEHERATY 2FERENE ZEXEH* | 5| 5| 5| 5|6 |6
17 | & B 5 IpFE  EEERIR (5 BERE) 5|5|5|5|5|5
18 | K |[2=b7#a] 1HEREWUE 725X LIHES 5|6 |6|6|6|6
19 | & SHEREWE =2=t7%He (1/123FT) *|5|5|5| 6|6 |6
20 | +
21 | H
BRifE  SAERRESES) 1- 2 N—Fo DEEAE
22| )1 | REH= EEE - b SORER RIS 2=t e 5|5|616)66
23 | k 6 PBRIRYE /ITEH 2=t73%es *x |5 | 5|5 |6 |6 |6
24 | /K B 5 HfL 5|5|5|5|5|65
25 | K | WEES 5|6 |6|6|6|6
26 | & B 5 HEfE  EFRE (6 KK A EH) %“|5|5|5|5|5]|5
TR EER K AR 3 AR T
28 | H
29 | A | REds | IAEREETHS (1 ~4FA 1K) 4 | 4|44 )|6|6
30 | k B KR 5|5|6|6|6|6
31 | Kk B 5 fL 5|5|5|5|5|5
(SEBRSENT (A= AR T, SREMIHA L 312 05~ 1 480 54002 h £4, )
GHFMEAA 1 41 04y~ 1 4H5 550070 £,
KA =N o7 —HER A HIH SC- - -¥% 12-19-26H
(A % SC- - % 9-16-23H
MO TOFRIOIIE, BIE #FF (3614—-6911) £TREVWLET, )

1 BOEFER

SBHOXINDNSESDZLFELLD




